ictice

—"

1D A

14,

Y7, —

20, =M.,

23. -

26, —0

Jx -

20, If =

30, I o34,

result?

12, 3y &

’ 11 il

15, & 24

18. xixl xf—l
20 575 + 3;15
24. sz 9 " 9 -I—Sm
27. 2x4f3 - 2;53

is added to the sum of ETQ—

Sy 1o 1S subtracted from the sum of

Ix—5

13,
16.
19.
22.
25.

28.

1ix + IZ
7
and —— e 1L what is the result?

2b1 12

and 5,75,

W53

Sa._ Ta
12 12

a+3 a—73
6 6

_3r 15

r+5

2y
y+3

+ ¥+ 3

2t+ 3

4¢— 1
+ 1 -4

i-4dr

30+ 12 what is the

Find an expression for the perimeter of each rectangle.

Ji. 12x

X~ 2y
] .

L]

Wy
Tx—2y

32.

Aa+5b
Ja+7h

23+ 90
3a+7b -




